Efficiency vs dr

x 0.
<
©0.09
20.08
c
Q
50.07
=
%0.06
0.05
0.04
0.03
0.025 Al
0.01fH} T

LA LA RN AR LR RRRLE LRRRN AR

Ratio
=
T

......

......

defal
Tck

el au>]t reT4
T e ault-re

==
i EE

N e
o pER
= &

=

1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

Efficiency vs pu

1072 1071

AR(TP, jet)

50.02
i F
9.018F
P.016F
(] r
®.014F
t -
9.012F
0.01F
0.008F
0.006F
0.004
0.002

+

IIIIIIIIIIII
—i—!—H—_‘! —

| +ﬁ¢*#+¢**+ % ol

................

4»++H+H [, E L

05[---- 4

Ratio
—— f T

le ﬂ +Tﬂ+TTT+H [

.................

st [ |

0 10 20 3040 50 60 70" 80

Pileup



	Contents
	Page 1


